Official SATePractice Test
2013-14

Taking the Practice Test

The practice test will help you most if you take it under conditions as close as possible to
those of the actual test.

e Set aside 3 hours and 20 minutes of uninterrupted time
That way you can complete the entire test in one sitting. Note: The total testing
time is 3 hours and 45 minutes, but you save 25 minutes because the unscored
section* from this practice test was omitted.

e Sit at a desk or table cleared of any other papers or books
You won't be able to take a dictionary, books, notes, or scratch paper into the test
room.

e Allow yourself the specified amount of time for each section
Pace yourself by using a watch (without an audible alarm), which is what you are
allowed to use on test day.

e Have a calculator at hand when you take the math sections
This will help you determine how much to use a calculator the day of the test. Use a
calculator with which you are familiar—preferably the same calculator you will use
on test day.

e Read the test instructions carefully
They are reprinted from the back cover of the test book. On test day, you will be
asked to read them before you begin answering questions.

e Make sure you use a No. 2 pencil
It is very important that you fill in the entire circle on the answer sheet darkly and
completely. If you change your response, erase it as completely as possible. It is
very important that you follow these instructions when filling out your answer
sheet.

e Record your answers on paper, then score your test
Use the answer sheet when completing a practice test on paper to simulate the real
testing environment. After completing the practice test, you can score the test
yourself with “Scoring Your Test,” or you can return to collegeboard.com
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SECTION 2

Time — 25 minutes
20 Questions

Turn to Section 2 (page 4) of your answer sheet to answer the questions in this section.

Directions: For this section, solve each problem and decide which is the best of the choices given. Fill in the corresponding
circle on the answer sheet. You may use any available space for scratchwork.

..
I. The use of a calculator is permitied.
2. All nambers used are real numbers,
. A, Figures thatl accompany proddems i this test are intended 1o provide information uselul mosalving the problems.
‘_!',' They are drawn as accurately as possible EXCEPT when it is stated in a specific probbem that the figure is mot
- drwn 1o scale, All fgures e inoa plans unlbess otherwise indicated,
4, Unless otherwise specifed, the domain of any function 1% sssumed to be the set of all real numbers 1 for which
Jix)is a real member,
-.
E { i I
O AT 3 b 248
E b F M . 45
=| A=ar? I i “.'I': ) i ’
E =2 A= fw A= :TJ:Ir V= lwh V=xrik cimgl 4 bl Special Right Triongles
é The number of degrees of are in a circle is 360,
:I The sum of the measures in degrees of the angles of o wrangle is 180,
1. When 70,000 is written as 7.0 x 10", what is the 3. If x and y are positive integers, what are all the
value of 1 ? solutions (x, y) of the equation 3x + 2y = 11?
A) 1 (A) (1,4) only
(2) g (B) (3.1) only
ED; 4 (©) (1,4) and (2,2)
E) 5 (D) (1,4) and (3,1)
(E) (2,2) and (3,1)

2. On a car trip Sam drove m miles, Kara drove twice as
many miles as Sam, and Darin drove 20 fewer miles
than Kara. In terms of m, how many miles did Darin
drive?

(A) 2m+20
(B) 2m - 20

(©) % +20

m + 20

D) "

(E) % -20

GO ONTO THE NEXT PAGE>
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4. A company'’s profit, P, in dollars, for producing 7. A fruit salad is made from pineapples, pears, and
peaches mixed in the ratio of 2 to 3 to 5, respectively,
by weight. What fraction of the mixture by weight is

x machines in one day is given by P = 500x — 20x2.
If the company produces 10 machines in one day, then,

according to this formula, what is the profit for that pineapple?
day? 1
A <
(A) $5,000 5
(B) $4,000 3
(C) $3,000 ® T
(D) $2,000
(E) $1,000 2
© 5
1
D —
® 3
2
E) 3
12-n,12,12+n
5. What is the average (arithmetic mean) of the
3 quantities in the list above?
(A) 4 5 ~T
B) 12
(©) 18 R L
n
D) 4+ 3 8. In the figure above, square RSTU is inscribed in the
n circle. What is the degree measure of arc ST 2
(E) 12+ 3
(A) 45°
B) o0°
(©) 90°
(D) 120°
it (E) 180°

9. If P and Q are two sets of numbers, and if every
number in P is also in Q, which of the following
CANNOT be true?

(A) 4isinboth P and Q.

(B) 5isin neither P nor Q.

(C) 6isin P, butnotin Q.

A ¢ (D) 7isin Q, butnotin P.

(E) If8isnotin Q, then 8 is notin P.

6. Inisosceles triangle ABC above, AM and CM are

the angle bisectors of angle BAC and angle BCA.
What is the measure of angle AMC ?

(A) 110°
(B) 115°
(C) 120°
(D) 125°
(E) 130°

GO ONTO THE NEXT PAGE>
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10. What is the maximum number of rectangular blocks
measuring 3 inches by 2 inches by 1 inch that can be
packed into a cube-shaped box whose interior measures
6 inches on an edge?

(A) 24
(B) 28
(©) 30
(D) 36
(E) 40

11. If a # 0 and 3 = 5+a’ what is the value of x ?
x x+a
(A) =5
B) -1
© 1
(D) 2
EBE) 5

14. A boat costs x dollars, and this cost is to be shared
equally by a group of people. In terms of x, how many
dollars less will each person contribute if there are
4 people in the group instead of 3 ?

X
(A) D)

(B)

©

Wlx A=

@) X

E) Tx

12. The figure above is composed of 25 small triangles that
are congruent and equilateral. If the area of ADFH is
10, what is the area of AAFK ?

(A) 40
(B) 42.5
(©) 50
(D) 525
(E) 625

15. If y = 2x + 3 and x < 2, which of the following
represents all the possible values for y?

(A) y<7
B) y>7
©) y<5
D) y>5
(B) 5<y<7

3x+2y+2z=19
3x+y+z=14

13. If the equations above are true, which of the following
is the value of y + z?

A) =5
(B) -4
<G o0
D) 4
E 5

¥ = mxl
\
&
:! + 17 X

Ly = fix)

16. The graphs of the functions f and g in the interval
from x = =2 to x = 2 are shown above. Which of
the following could express g in terms of f?

(A) g(x) = f(x+1)

B) g(x)=f(x)+
© g(x)=f(x+ )
D) gx)=f(x~- )
EB) g(x)=f(x)-

GO ON TO THE NEXT PAGE>



2 |

LirdyPonmed Sy G0 1 al
any part ol ®is page is Begal

2

17.

Paper—"¢ -

In the figure above, a shaded polygon which has equal
sides and equal angles is partially covered with a sheet
of blank paper. If x + y = 80, how many sides does

the polygon have?

(A) Ten
(B) Nine
(C) Eight
(D) Seven
(E) Six

18.

If s, t, u, and v are the coordinates of the indicated
points on the number line above, which of the
following is greatest?

(A) |s+1
(B) |s+v|
© |s—t|
D) |s-v|
(E) |s+ul

STOP

19.

DEFTH QF THE WINDING RIVER

Depth of Water
(in feet)

1:00 2:00 3:00 400 5
Time of Duay (P}

On the day of a rainstorm, the depth of the water at a
certain location along the Winding River was recorded
hourly, and the results are indicated in the line graph
above. Each unit on the vertical axis represents 1 foot.
If the depth of the water decreased 10 percent from
3:00 .M. to 4:00 P.M., what was the depth of the water
at4:00 P.M.?

(A) 3 feet
(B) 15 feet
(C) 18 feet
(D) 20 feet
(E) 30 feet

20.

For all numbers a and b, let a©b be defined by
a © b =ab+a+b. Forall numbers x, y, and z,
which of the following must be true?
L xOy=y0Ox

I (x-1)O(x+1)=(xOx) -1

L xO(y+z)=(x0y)+(xOxz)
(A) Tonly
(B) II only
(C) III only

(D) T'and II only
(E) L 11, and III

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.
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SECTION 6

Time — 25 minutes
18 Questions

Turn to Section 6 (page 6) of your answer sheet to answer the questions in this section.

Directions: This section contains two types of questions. You have 25 minutes to complete both types. For questions 1-8, solve
each problem and decide which is the best of the choices given. Fill in the corresponding circle on the answer sheet. You may
use any available space for scratchwork.

e

1. The use of a calculator is perminied.
2. Al numbsers used are real numbsers,
. A Frgures thatl acoompany probdems i ths test are intended 1o provede infomabon uselful m solving the problems.
i They are drawn as accurabely as possible EXCEPT when it is staied in a specific problem that the figure is ot
drwn 1o scale, All Tigures lie in a plang unless otherwise indicated,
4, Unless otherwise specificd, the domain of any functien 15 assumed 1o be the set of all real numbers @ for which
JSixdis a real number.
5 £ [ i .
E W i—{r - LI . = Fle 5™
= b r M
£ A 1 . “ X3 *
= gF- . . .
E C=28r A= fw A= {anr V= fil V=smrik el=gly pl Special Right Triongles
E
| The number of degrees of arc in a circle is 360,
e Thee s of the mEaseres 1@ diegrees o Ui angles of a mangle 1% 180
1. If x+k =12 and p(x + k) = 36, what is the value 2. If 13 is added to one-half of a certain number, the
of p? result is 37. What is the original number?
A) 3 (A) 24
(B) 40
B) 4
(C) 48
© 6
(D) 61
®) 9 (E) 80
(E) 12

GO ONTO THE NEXT PAGE>
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3. In the figure above, the usual route from Town A to
Town D is indicated by the solid line. The broken line
indicates a detour route from B to C through E.
Each line segment is labeled with its length in miles.
How many more miles is the trip from Town A to
Town D via the detour than via the usual route?

(A) 4
(B) 8
© 10
(D) 12
(E) 18

A

Mol Frgure nol dravwn o scale.

5. In the figure above, point B lies on AC. If x and y

are integers, which of the following is a possible value
of x?

(A) 30
(B) 35
(C) 40
(D) 50
(E) 55

x y

1 1.5
2 13.0
3 18.5
4 24.0

4. Which of the following equations expresses
y in terms of x for each of the four pairs of values
shown in the table above?
(A) y=5x+175
B) y=55x+2
(C) y=55x+75
D) y=75x
(E) y=75x+55

. The least and greatest numbers in a list of 7 real

numbers are 2 and 20, respectively. The median of the
list is 6, and the number 3 occurs most often in the list.
Which of the following could be the average (arithmetic
mean) of the numbers in the list?

L7
II. 8.5
III. 10

(A) T only

(B) I and II only

(C) I and III only
(D) II and III only
(E) I, II, and III

GO ON TO THE NEXT PAGE>
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7. In the xy-coordinate plane, how many points are a Number of
distance of 4 units from the origin? Family Congecutive
(A) One Nights
Eg; $¥0 Jackson 10

ree
(D) Four Callan 5
(E) More than four Epstein 8
Liu 6
Benton 8

8. The table above shows the number of consecutive
nights that each of five families stayed at a certain
hotel during a 14-night period. If the Liu family’s stay
did not overlap with the Benton family’s stay, which of
the 14 nights could be a night on which only one of the
five families stayed at the hotel?

(A) The 3rd
(B) The 5th
(C) The 6th
(D) The 8th
(E) The 10th

GO ONTO THE NEXT PAGE>
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Directions: For Student-Produced Response questions 9- 18, use the grids at the bottom of the answer _h\h
sheetl page on which you have answered guestions -3,

Each of the remaining 10 questions requires you o solve the problem amd enter your answer by marking the circles
in the special grid. as shown in the examples below. You may wse any available space for seratchwork.

Answer: 20|

Answer: 13 Answer. 2.5 Either position is cormec.
Wite snswer 1 71 /1112 2|.15 210112
’ [ ] s— Fraction )
(@@8@ Tz EBSGPMimuI Eg%m B
l @)@ @[]  poim Gl _JiE;
ojtoll 1o ojlo] lojfo) ol lolloll JRlo
allolloll all llelta all lollolnf |
g ) R
B3
1| & |6 | (E ol o] Lol Lo Nobe: You may st N~
221212 ofjofioflo in iy colum, pace permitting.
L alalelm alale s Eﬂﬂ:im ot eecded should be left
& Mark no more than one circle inoany column. o Decimal Answers: [ you obtaim o decimal answer
, . wiith meore digits than the grid can accommiodare,
* Because the answer sheet will be machine- it may be either rounded or truncated, but it must
seored, you will receive credit only il the circles fill the entire grid, For example, if you obtain
are filled in corvectly. an answer such as UGG, you should recond

yiouar result as bl or 667, A less accurate valoe

& Although not reguired, it is suggested that vou such a5 66 ar 67 will he Las i .

wrile your answer in the boxes o the wop of the

2
columns to help you fill in the circles accurately. Acceptable ways 1o grid 3 arc:
# Somie problems may have maore than one cormect o9/ 3 ) E' E' E ) E E :,7
answer, [nosuch cases, grid only one answer. 16 )
* Mo guestion has o negalive answer, ﬂ%é% l% 1%..8.
& Mixed numbers such ;1\..1% must be gridded as 0] Lo] [o] Lol R [0] [D] (0] (O] B [0 (0] (0] [
@@ @223 |@|@|@|@
.!..'iq:lr?,-"lqll'i\griuhhd.i!ulllhu |@|o|e| |2|2|@|®| |(@|e|@|@
o 21310(6] 2136l 335/
interpreted as -, nod 3.0 - L -
P 2 2 WN®e weee Lee e
X
9. If a cake is cut into thirds and each third is cut into 10. If y = ﬁ, where & is a constant, and if y = 3 when
X

fourths, how many pieces of cake are there?
x = 4, what does y equal when x = 67?

GO ONTO THE NEXT PAGE>
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11.

F)

A

MWote; Figure mot drown o scale

In the figure above, point B lies on side AC. If
55 < x < 60, what is one possible value of y ?

15.

=

- b_c

1

The area of the figure above is % What is the

perimeter of the figure?

12.

The price of a certain item was $10 in 1990 and it
has gone up by $2 per year since 1990. If this trend
continues, in what year will the price be $100 ?

16.

If j is chosen at random from the set {4, 5, 6} and

k is chosen at random from the set {10, 11, 12}, what
is the probability that the product of j and k is divisible
by 5?

13.

i3, E]/\c'.'. ]
.'j / \ |

The figure above shows the graph of a quadratic
function in the xy-plane. Of all the points (x, y) on the

graph, for what value of x is the value of y greatest?

17.

Tom and Alison are both salespeople. Tom’s weekly
compensation consists of $300 plus 20 percent of his
sales. Alison’s weekly compensation consists of $200
plus 25 percent of her sales. If they both had the same
amount of sales and the same compensation for a
particular week, what was that compensation, in
dollars? (Disregard the dollar sign when gridding your
answer.)

14.

The number 7 is a 2-digit number. When n is divided
by 10, the remainder is 9, and when # is divided by 9,
the remainder is 8. What is the value of n ?

STOP

18.

tx+12y = -3

The equation above is the equation of a line in the
xy-plane, and ¢ is a constant. If the slope of the line
is —10, what is the value of ¢ ?

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.
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SECTION 9
Time — 20 minutes
16 Questions

Turn to Section 9 (page 7) of your answer sheet to answer the questions in this section.

Directions: For this section, solve each problem and decide which is the best of the choices given. Fill in the corresponding
circle on the answer sheet. You may use any available space for scratchwork.

e
1. The use of a calculavor is permined.
2. All nambers used are real numbers,
. A, Figures thatl acoompany proddems i this test ane intended 1o provide information uselul mosalving the problems.
= They are drawn as accurately as possible EXCEPT when it is stated in a specific probbem that the figure is mo
drwn 1o scale, All fgures e inoa plans unlbess otherwise indicated,
4, Unless otherwise specifed, the domain of any function 1% sssumed to be the set of all real numbers 1 for which
Six1is a real member,
L
E i 1 I
= N 4 2x I .
3 " ;—|r A h & r &
= M
— 1] f -
i A s e £ 3 ¥
= xr . . .
E . A= Iw A= {-,JJ-.I'r V= lwl V=grik clmgl+ bl Special Right Trinngles
e
2| The number of degrees of arc in a circle is 360,
= The sum ol the measures 0 degrees o U angles of atnangle % 1Rk
Ty

1. If%y+920, then y =
(A) —27 2
(B) -9
©) -3
D) 3
(E) 27

2. In the figure above, P, Q, and R lie on the same line.
P is the center of the larger circle, and Q is the center
of the smaller circle. If the radius of the larger circle
is 4, what is the radius of the smaller circle?

A 1
B) 2
< 4
(D) 8
(E) 16

GO ON TO THE NEXT PAGE>
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6. If & and k iti b dh+k=7
3. Roy planted corn on % of his land. If he planted an are postiive fumbers an ’

7-k _
45 acres of corn, how many acres of land does then n
he have?
A 1
(A) 90 B) 0
1 € -1
B) 1125 (D) h
E) k-1
(©) 135
(D) 225
1 Total Populati
(E) 337 ota opulation
2 Country Population Density
600 people

A 6,500,000 people per square mile

6, 10, 18, 34, 66 400 people

B 7,600,000 people per square mile

4. The first number in the list above is 6. Which of the
fo]]owing gives. a rule for finding each successive 7. The table above shows the populations of two
number in the list? countries and their population densities. The
(A) Add 4 to the preceding number. pumber of square miles in the area of Country B

is approximately how much greater than the

(B) Take % of the preceding number and then add 7 number of square miles in the area of Country A ?
to that result. (A) 200

(C) Double the preceding number and then subtract 2 (B) 3,600
from that result. ©) 5,000

(D) Subtract 2 from the preceding number and then (D) 8,000
double that result. (E) 905,000,000

(E) Triple the preceding number and then subtract 8
from that result.

8. If x2=x+ 6, which of the following must be true?

(A) x=6

. B) x<3

- A . ©) x>0
/- i

D) x<x

B) x> >x

5. The two semicircles in the figure above have centers
R and S, respectively. If RS = 12, what is the total

length of the darkened curve?

(A) 8=z
B) Iz
©) 127
(D) 15z
(E) 167

GO ONTO THE NEXT PAGE>
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9. Let the function f be defined by f(x) = 5x — 2a, SCHOOL ENROLLMENT

E
where a is a constant. If f(10) + f(5) = 55, what ,E 2000 —
is the value of a ? S 1600 B 1 M
1,200 — —
(A) =5 g s0f Al |k -
B) 0 = 4w
< s ]
(D) 10 Z Iy [4RF] 1992 193 1994
(E) 20 O Schil A
O Sachvsnl £2
10. A number is called “even-odd” if it is halfway between 12. According to the graph above, in which year was the
an even integer and an odd integer. If x is an even-odd ratio of the number of students enrolled at School B
number, which of the following must be true? to the number of students enrolled at School A the
I. 2x is an integer. greatest?
II. 2x is even-odd. (A) 1990
III. x is halfway between two even integers. (B) 1991
(A) Tonly (C) 1992
(B) II only (D) 1993
(E) 1994

(C) TandII only
(D) 1II and III only

(E) 1,11, and IIT

11. If m is a positive integer, which of the following is

NOT equal to (24 )m ?

(A) 24m

(B) 42m

© 2" (23'") . . .
13. In the figure above, /¢ llm. Which of the following

(D) 4" (2m) must equal 180 ?

(E) 16™ A k+n+r

B) k+p+s

©C) n+p+s

D) n+p+t

E) r+s+t

GO ONTO THE NEXT PAGE>
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14.

How many different ordered pairs (x,y) are there such 16.
that x is an even integer, where 4 < x <10, and y is
an integer, where 4 < y < 10 ?

A) 8
(B) 12
(C) 20
(D) 30
(E) 36

15.

n(t) = 500(0.81)'

The function above can be used to model the
population of a certain endangered species of
animal. If n(¢) gives the number of the species
living t decades after the year 1900, which of the

following is true about the population of the species
from 1900 to 1920 ?

(A) Itincreased by about 1,000.
(B) It increased by about 320.
(C) It decreased by about 180.
(D) It decreased by about 320.
(E) It decreased by about 1,000.

STOP

A sphere of radius r inside a cube touches each one
of the six sides of the cube. What is the volume of the
cube, in terms of r ?

A r

®B) 217

©) 4

DO) Zar

E) 8~

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.



